B8 MR (1. 75Kg)

TR = EREEFERF AR (08240005)
RECEERAEARF2NEEHRERIRFSI ARBELHREFEAR=ERFER

sy 3 . N S =
I ZERLBERRS - SERBFIRATER F Rk R

®IE  hAFM FLER AT ik ]
215 . SEREHRABEISE EHEIS (241010

AARE e (HN) 52m34 B MR GRLiRERAE - JtiEE) 2007 TH13H 10:00
B @k (KH) 47m33 NEF O OERL (HEE) 2007
K&icgk (GR) FHE O RN e L (%)
s
Wehz| B | P R | 2mA [ sEn | x| S | | sER | emn | e a/h
A% 3T
1| 25 814l k— (2) FIRIL RS [41m32 | 40m24 X 41m32 7 X 39m05 | 45m67 |  45m67
N2 AV
2| 28 137 EA (2 i A 42m78 | 40m78 | 42m02 | 42m78 8 44m80 X 42m83 | 44m80
A 2y
3| 26 32080k VEE (2) P T 39m96 | 40m39 | 40m80 | 40m80 6 X 41m38 X 41m38
T Vay
4] 13 524|[fm & (2) HE 39m40 | 38m87 | 40m77 | 40m77 5 41m04 | 40m38 | 40m40 | 41m04
VR Vank
51 27 198|#2 F  #ik (3) —Em 37m92 X X 37m92 4 X 40m27 X 40m27
INZEEVIY
6 9 1505(53 153 (2) YN YN X 37m12 X 37m12 3 37m34 X X 37m34
TVE) huh
71 23 378\ Bk (2 = 36m39 X X 36m39 2 37m10 X 35m99 37m10
LS WARES
8l 24 136| LA Kifd (2) i A — X 35m45 | 35m45 1 X 33m50 | 36m20 |  36m20
7 ank
9 1 379) =AF SERE (2) FeE 35m30 X X 35m30 35m30
N VA
10 2 1780 ER (2 8 TE 30m95 X 34m05 | 34m05 34m05
EZ 1A
1| 14 35020 ER (3) PIPNGE S 32m26 | 32m44 | 31m18 | 32m44 32m44
YUY WA )77
12 8 3500801 HE (D) AT 32m17 X 30m95 | 32m17 32m17
A vES
13 7 14690 Mm% (2) FAPR T8 30m57 — 31m28 | 31m28 31m28
7V anh
5 243|855 3k (2) R — — — NM
Rzl
16 12294 HEERES (2) Z4 T X — — NM
AVhY F7%
20 1238) )11 THk (2) F4TH X X — NM
¥YEb Y
18 373 AR MER (2 FaE — — — NM
RZEEVES
15 23l #a (2 HETE & — — X NM
VLR VN
17 796|615 (2) L — — — NM
gLy 73bY
3 635|miH STk (2) TG HE X X — NM
Y3 F any
21 1455 Mt (2) HEE — — — NM
h ) ank
19 2U4| R #E% (@) —E& — — — NM
Y F yaga”
6 230[1lH N E (D —HH X X X NM
NeHTY k¥
22 1217 ER)IER (2) 5 H & — — X NM
=V Ay
12 3/ KE () FEHTE — — — NM
)% vy
10 1204[F% /A Wl (1) HH X — — NM
IVALEVAS
4 1658 et (1) HH — — — NM
x84
11 3509(mw K (2) ITREHE DNS
R NM:ER#R7%EL DNS: Ri5




